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Name: ......ovvveveerrreereeoson Date: ...ocvveeereeeeie

INSTRUCTIONS TO CANDIDATES
Section A (30 marks) Time: 45 minutes

1. Answer all the questions in this section.

2. Calculators may not be used in this section. '

3. All working must be cleatly shown. Omission of essential working will result in loss of marks.
4. The marks for each question is shown in brackets [ 1atthe end of each question.

1 Each student surveyed was asked how mauy siblings he had. The results are illustrated.in the bar
chart below.

Number
of students

A 4

Number of siblings

(a) How many students participated in the survey?
(b) How many siblings do all the students have?
(c) Find as a fraction in its simplest form, the number of students who have less than 3 siblings.

Answer (@) ... students {1j
(7 2T sibling; 2]
(o S [1]
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2 The number of goals scored by a football team in each of 30 matches is shown below.

0 3 1 2 3 0 1 4 b
2 1 0 3 1 4 3 1 3
1 3 2 3 2 1 4 0 1

(a) Complete the corresponding frequency distribution table below.

Answer (a)

[y

Bl w |

2]

(b) The data above is to be recorded in the dot diagram below. The fizst row of the data has

already been entered on the dot diagram.
(i) Complete the dot diagram below.

Answer () (D)

0 1 2 3 4

(i) If the same data is to be represented in a pie chart, calculate the angle of the sector that -

represents the number of matches with 1 goal scored.

Answer (b) (i)

(1]
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A survey was conducted to find the number g
to Friday.

fsticks of satay sold by a satay stall from M(;nday
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Each %% represents 80 sticks of satay.

(a) On which day did the stall sell the most numbe

sticks of satay was sold that day.

() Tind the ratio of the number of sticks of satay

satay sold on Wednesday.
(¢) If the profit for selling each stick of satay

Answer (a)......

sivers

().

v of sticks of satay? Write down how many
sold on Monday to the number of sticks of

was 15 cents, calculate the total profit earned for
selling the sticks of satay from Monday to Friday.

LR L P T TP T Frissienesen gy

...... vreseenennnn. StiCks [1]
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4 The diagram shows part of the line graph of the number of cars sold by an automobile shop for
the first six months of 2003. -

Answer (d) : l . [1]
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(a) 40% more cars were sold in February than in January. How many cars were sold in J anuary?

{(b) Calcuiate the percentage decrease of the number of cars sold in May from the number of
cars sold in April,

(e) There was an increase of 25% in the number of cars sold in June from the number of cars
sold in May. How many cars were sold in June?

(d) Complete the line graph from January to June.
{e) Find the total number of cars sold by the shop for the first six months of 2003.
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ARSWer (@) .ooeeeecevnvrenrerann, cars [1] p

(B) oot % [2]

(3 S cars [1] ,‘ ;

€ J cars [1]
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The histogram shows the results of a survey

carried out to find the number of passengers

in 80 cars passing an ERP gantry at a certain

time of a day. Calculate

(a) the number of cars which had less than 3
passengers,

(b) the total number of passengers in all the
cars surveyed,

(c) the percentage of the cars which had only
2 passengers.

~Numberiol

- cars—T

1

Answer (a) ........ sesseeeniiennn, €218 [1]

{27 N e passengers [2]
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6 The pie chart represents the distribution of a group of people who attended last month’s family
camp at Pulau Ubin. :
(a) Calculate the percentage of the men in the group.
(b) Given that the number of women was half the number of boys, calculate the value of x.
(¢} Given that 840 girls attended the camp, calculate the total number of people in the group.
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ARSWEE (@) covviviireeeereseeeern % [1]
(B) X =reciiiveeieennannn, 2]
(3 IR people [1]
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j ! 7  The Mathematics marks obtained by the students in a class test is shown in the stem and leaf
| i diagram below. The total marks for the test is 80. '

OOQG\LA-LKL.OM
O o= O WO h ]
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~1 oo
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(a) Find the number of students in the class. _

(b) If the passing mark for the test is 45, find the fraction of the students who failed the test.

(¢) Ifadistinction is awarded to the student who scores above 75% of the maximum marks, find
the number of students who were awarded distinctions.

8
— 1000 0000 nt

Y Siauann

.

Answer (@) .o students [1]

(23 J ¥ |

(€) v, students [2]
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INSTRUCTIONS TO CANDIDATES

Section B (30 marks) . Time: 45 minutes i(

1. Answer all the questions in this section. ' . |
2. Calculators may be used in this section. _

3. All working must be clearly shown. Omission of essential working will result in loss of marks.

4. The marks for each question is shown in brackets [ 1atthe end of each question.

8 Asurvey was conducted on a group of 40 students to find out the number of hours each of them
spent surfing the internet in a week.

Number
of students

$

=

8
Number of hours

BURSTIY o -

(a) Find the percentage of the students who spent at least 8 hours that week surfing the internet,
(b) The same data is to be represented in a pie chatt. Complete the pie chart.

Answer (b) 2] L

ANSWEE (@) vuvveeiirierncireeeervorons % [2]
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The number of male workexs in Factory ABC (correct to the nearest hundred) from 2000 to 2003

is shown in the table below,

2000 | 2001 | 2002 | 2003
7500 | 7800 | 8200 | 8700

(a) Using the data given above, complete and label the following bar graph.

Answer (a)

| TTHIT TWTTFTIR , TF_FTT"T“TT“fFﬂ——'
I __;_ 2000 11 HTE ;_;ﬁ_;;*,';;_‘ T T
LRIt T

[2]

(b) Calculate the percentage increase of the number of male workers in the factory from 2000

fo 20037

186
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(¢} The ratio of the number of male workers to the number of female workers in the factory in
2003 was 15 : 11. Calculate the number of female workers in the factory in 2003.

Answer (B) v, % (2]

10 The students of Secondary 14 were asked to indicate the number of days they were late for
school in a particular month. The results are shown below.

O WO =N
W= O M
[ N N
— WD
— L e DN
ML O e
OB = O W

(a) Construct a frequency table to represent the data above.

Answer (a)

(2]
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(b) Draw a histogram to illustrate (he information,

Answer (b)

/ (¢) Fiud the fraction of students who were Tate for more than 2 days that month.
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Answer (c)

Test 15: Starisrics




11 (a) In arecent survey, 40 students were asked the number 61’ novels each of them bought Tast
- year. The following dot diagram shows the resuits of the survey. '

LA X ]

LR X X

LR X ]

[ XXX
L J

0 10 15 20 25 30

() By using the information provided by the dot diagram, compiete the stem and leaf
diagram below.

Answer (a) (D

6] 2
016 7
Lt0o 0 2
115 5 7
210
2
3 [3] i
o
(i) Find the bercentage of the students wheo bought more than 25 novels last year f;:
(b) The pie chart below shows the results of a survey of the age of the workers in a chain of fast 2
e

() Caiculate the value of x.,

(i) Calculate the number of workers being interviewed
if there are 264 more workers aged 30 years to 39
years than those aged 50 years and above.

(iii) Find the percentage of the workers aged 40 years
to 49 years in the survey, giving your answer
correct to 3 significant figures,

Below 30
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12 The data below représents the mass of 30 parcels in kilograms.

e 54 36 29 42 23 38 26 47 23 53
23 47 59 56 44 35 59 21 42 35 B

i 35 40 29 47 21 54 38 49 56 47
(a) Draw a stem and leaf diagram to display the information.
(b) Tind the most common mass of the 30 parcels. I
'(¢) Find the difference in mass between the lightest and heaviest parcel. 1
. (d) Calculate the average mass of the parcels which are over 50 kg, giving your answer correct 2‘
to 3 significant figures. 3'
(e) Find the fraction in its simplest form, of the parcels that weighs between 36 kg and 54 kg.
Answer (a) [2] 4
E
I
x 1
=2
£ o
g
@A
o
i
i
|
Answer (D) oo, revvansbrersonn kg 1]
(=) T ctsrenereans kg [1]
(d) o vt e kg [2]
(I rereeeneer e T | i
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3. (a) The most number of sticks of satay was sold on
Friday.
No. of sticks of satay
sold on Friday
=6 X80 + 60
1. {a) No. of students _ —
=480 + 60 ;
=7T+12+6+3+1+1 = 540 !
=30 (55 L
(b) No. of siblings {b) No. of sticks of satay sold on Monday = 200
=0xD+AXID+2C X+ 3%+ No. of sticks of satay sold on Wednesday = 420
@xD+5x1D ) Required ratio = 200 ; 420
=0+124+1249+445 =101:21
=42 : {c) Total no. of sticks of satay sold
{c) No. of students having less than 3 siblings. = 200 + 240 + 420 + 320 + 540
=7+1246 = 1720
=125 : Total profit
Required fraction = 1720 % 15¢ = $258
=5 '
30 4. (a) From the graph, 420 cars were sold in February.
_5 No. of cars sold in February = 140% of the no,
: 6 of cars sold in January
; No. of cars sold in January
. 2 @ = 100 -
. mﬁ'; 0 420 = 300
der
é E 2 4 0 1 6 {b) Percentape decrease
Mo _
_g_t‘-"% i #HH i 9 e 20160 ona
ZEQE 250
iz' S S.,'- H 2 HH 5 %0
?5’ = — X 100% =36%
3 3 1l 7 250
25
#§ 4 i 3
P
5 ® 0 ,
o i {c) No. of cars sold in June
P . = 125% of the no. of cars sold in May
o 15 ~
- : = 100 % 160 =200 |
3 | ' @ .
y IR R
Iy EgH HEHLAT N i
% 0 1 2 3 & | HE R T
BT H s{Ea H 1
(ii) No. of matches with 1 goal scored Ei s N2
= 9 ::g
Angle of sector representing no. of matches 'iE HH HHHhn
! with 1 goal scored Fez il T :
I REs b H
I =9 o ’ F R R T
- = o % 360 |
= 108° a HAtHEEFTE L Haiitteh s
SIS e T i
PR R leliit:
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(@)

(b)

Total no. of cars sold
=300 + 420 + 200 + 250 + 160 + 200
= 1530

No. of cars which had less than 2 passengers
=144+8+28
=50

Total number of passengers

={0X 1)+ (1 x8) +(2x28) + (3 x20) +
(4= 10)

=0+8+56+60+40

. =164

(c)

@)

(b

©

2
3
4
5
o
7
8

Percentage of the cars with 2 passengers

=§)-x100 5%

Required percentage

108°
= 360° X 100%

36_' X 100%
=30%

Angle of sector representing women = é—x"

(Given that the no. of women was half the no. of
boys.)
1

R S E.\"’ + 108° = 360°
%x“ =252°
9x° = 504°
o SM oo
a°= 5= 56
S x=56
3x° =3 % 56°
= 168°

1e8° reprcsent 840 people,

1° represents f = 5 people.
360° represent 360 % 5 = 1800.

" 1800 people attended the camp.

— e S0 LR
= W SRV
O L \D
R R =]

O = O WD~
[ ]
-~ oo
~I oo

O = O~ D

Worked Solutions to Test Papers

(a) No. of students in the class
=32

(b) No. of students who failed
=4

.. required fraction = -3%

1
8

{c) 75% of 80

75
= m X 80
=60 .
A distinction is awarded to pupils who score
above 60 marks,

No. of students awarded with distinctions

=19

8. (a) No. of students who spent at least 8 hours
=12+6+8
=26

- rcqulred percentage
= E). x 100%
= 65%

(b) In the pie chart,
40 students is represented by 360°.

360 ey

. 1 student is represented by ——

7 4 4%X9°=236°
8 12 12 x 9° = 108°
9 6 6% 9% =54°
10 8 8Ex9° =720
25
g
292
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8700 —~ 7500
7500
= 16%

Percentage increase = x 100%

15 units — 8700 people
1 unit — %gﬂ = 580 people

11 units — 11 x 580 = 6380 people
- there were 6380 female workers in the factory
in 2003.
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{c) No, of students late for more than 2 days
=7+3+1
=11

Total no. of students
=10+9+5+7+3+1
=35

. required fraction

_ 1

T

@

B R ot e OO
DLt OO
SO O
[= W IR I G RN |
O~ W]
Oy = 0O W
[ i~ - L}
~1 — 00 &
~l W
Dt

(ii) No. of students who bought more than 25
novels
=9
< required percentage

= %xm()%

=22.5%
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(b) () x°+97° +70° + 90° =360°

¥ = 103 ;

Sx =103 i

(ii) 103° - 70° = 33° I
33° represent 264 workers, f

I° represents 23% = 8 workers. H

360° represent 360 x 8 = 2880 workers. 2. @ LI 0.857 (correct to 3 sig. fig)) 0.8571 rf

- 2880 workers were being interviewed. 7 7 ) 6.0000 I

(iii) Required percentage % |'
= 2« 100% 35 i
360° 50 ||
=26,.9% (correct to 3 sig. fig.) 49 :
- .H

12, (a) Stem , Leaf 12 ||
. _ i
2 113 33 6099 3 ;

3 555 68 8 !

4 022 47 7779 ]
5 34 4 66 9 9 - i

(b} The most common mass
is 47 kg.

‘ (¢) Lightest parcel =21 kg

; Heaviest parcel = 59 kg

Difference = 59 - 21
=38 kg

(d) Average mass

! o 33+ 54 154 +56 456+ 59 459
! B 7
I

3. 1764 =22 3t % P

2
: 2
; 3
(e} No. of parcels weighing between 36 kg and 54 kg 3
=12
- required fraction 7 :
12 L — i
"0 I
: 2 N Ih
= 9261 =3 x 7 9261 HE

Exumination »
imén Paper A: Part

s s W W W
=
%)
o

Lo -16 + 64 ~[50 (9 15) x 2]
=16+ 8 - [50 — (=6) x 2]
=-16 + 8- [50 — (-12)]
=-16+8 - 62
=-2-62
= —64
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